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SAMPLE PAPER 4: PAPER 2

QUESTION 5 (25 MARKS)

X 1 2 3 4 5

P(x) 0.1 0.2 0.3 0.3 0.1

Question 5 (a) (i)

P(Atleast 3) =1—-[P(1)+ P(2)]
=1-0.1-0.2=0.7

Or

P3)+P4)+P(5)=03+03+0.1=0.7

Question 5 (a) (ii)

__ 2 XP() _9(0.1)+2(0.2) +3(0.3) +4(0.3) + 5(0.1) _

X 3.1
yp 0.1+0.2+0.3+0.3+0.1
Gender For Against Total
Male 58 85 143
Female 84 73 157
Total 142 158 300
Question 5 (b) (i)
P(Male and Against treaty) = 8 17
s Y 300 60
Question 5 (b) (ii)
P(Female or For treaty) = 8 +157 = ﬁ
300 60

Question 5 (b) (iii)
82
142 71



